MBAC 1004

M.B.A. DEGREE EXAMINATION,
DECEMBER 2014/JANUARY 2015.

First Semester
General/Marketing/Finance/IB/HRM/RM/Tourism
BUSINESS ENVIRONMENT AND LAW
(2012-2013 Batch o.:émamv
Time : Three roE.m. Maximum : 100 marks
PART A _ (5 x 6 = 30 marks)

Answer any FIVE questions.

1. What is social environment? What are the factors
influencing it?

2. V?&%No the social responsibility of business
‘towards employees.

3.  Discuss the role of infrastructure in developing
countries.

4. When a contract is said to be discharged?

5. What is contingent contract?
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